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P 2 58 (A LX)

e AN

1 A D)4 A s+ 0.0 m3
2 K Ol AR S 0.0 m3
3 A—7 v E L 199.0 m3
4 F =7 E 0.0 m3
1 A D)4 A s+ 0.0 m3
2 K Ol A RS 0.0 m3
3 A—7 v E T 199.0 m3
4 F =7 E 0.0 m3
Y R S B AL nii AN -
2131411121314 1 2 3 4 | mosies
114.0 0.00 1.9 0.95 0.0
No.24 6.00 3.5 2.70 16.2
b 7080 24+15.11) 15.11 3.6 3.55 53.6
No.25 4.89 3.0 3.30 16.1
4.6 4.60 2.2 2.60 12.0
114.0 9.40 3.0 2.60 24.4
No.26 6.00 3.1 3.05 18.3
bC.70N0.2618.0) 8.01 3.4 3.25 26.0
114.0 5.99 3.7 3.55 21.3
117.0 3.00 3.7 3.70 11.1
0.0 1.85 0.0
7.2
9.7
/NET 63.00 0.0 0.0] 199.0 0.0
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RS

5 5 R A (W<2) 3% i@ - A4 7 w3
6 IRIEEEH(W2)HRA 0.0 m3
TR HE B (Wo2) W T 0.0 ms3
8 M R AW2 = 4) 0.0 m3
55 R A (W<2) 3% i@ 1 A4 7 w3
6 IRIEEEH(W2)HA 0.0 m3
TR A (W>2) 3% i L 0.0 m3
8 H R AW2 = 4) 0.0 m3
. e Wr i NS ] iva .
A | B 516171815161 718 5 6 3 1t 2
+14.0 0.00 0.8 0.40 0.0
No.24 6.00 0.8 0.80 4.8
SP.7(No.24+15.11) 15.11 0.6 0.70 10.6
No.25 4.89 0.6 0.60 2.9
+4.6 4.60 0.6 0.60 2.8
+14.0 9.40 0.6 0.60 5.6
No.26 6.00] 0.6 0.60 3.6
FC.7(No.26+8.01) 8.01 0.6 0.60 4.8
FC.7(No.26+8.01) 0.00 1.0 0.80 0.0
+14.0 5.99 1.1 1.05 6.3
+17.0 3.00 1.1 1.10 3.3
0 0.55 0.0
/J\§+ 63.00 44.7 0.0 0.0 0.0
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e fh AN

0 HEBW=WI<4,W<1) 0.0 ms3

10 # % cl = wi4,wa<1) 0.0 ms3

11 # % D (W1<1,wa<1) 10.2 m3

12 % & B 1+ (W<2.5) 0.0 m3

0 HEEBW=WI<4,W<1) 0.0 ms3

10 # % cl = wid4,wa<1) 0.0 m3

11 # % D W1<1,wa<1) 106.2 m3

12 BB 1 (W<2.5) 0.0 m3

- - - — =
m s STl Tzl 9 T [ 2] o TTo T LI z] %
+14.0 0.00 0.4 0.20 0.0
No.24 6.00 0.4 0.40 2.4
5P 7(N0.214415.11) 15.11 0.2 0.30 4.5
No.25 4.89 0.2 0.20 1.0
4.6 4.60 0.2 0.20 0.9
+14.0 9.40 0.2 0.20 1.9
No.26 6.00 0.2 0.20 1.2
C.7(N0.26+8.0) 8.01 0.2 0.20 1.6
iC.7(N0.26+8.0) 0.00 0.3 0.25 0.0
140 5.99 0.3 0.30 1.8
+17.0 3.00 0.3 0.30 0.9
/NET 63.00 0.0 0.0 16.2 0.0
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13 B& A% + (2.5 ~4) 0.0 m3

14 BIKELA<W) 0.0 m3

15 B R & + (W<2.5) 5.3 m2

16 B + (2.5 ~4) 0.0 m2

13 B& A% + (2.5 ~4) 0.0 m3

14 BEAEEEA<W) 0.0 m3

15 &K & + (W<2.5) 5.3 m2

16 BRI RE + (2.5 ~4) 0.0 m2

\ o R Wi . B :
M | FERE 3T 14T15] 16| 13 14] 15] 16| 13 ] 14 ] 15| 16 | %

+14.0 0.00 0.2 0.10 0.0
No.24 6.00 0.1 0.15 0.9
SP.7(No.24+15.11) 15.11 0.1 0.10 1.5
No.25 4.89 0.1 0.10 0.5
+4.6 4.60 0.1 0.10 0.5
+14.0 9.40 0.1 0.10 0.9
No.26 6.00 0.1 0.10 0.6
[C.7(N0.26+8.01) 8.01 0.0 0.05 0.4
+14.0 5.99
+17.0 3.00
IINEF 63.00 0.0 0.0 5.3 0.0
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it BOOR

P 258 (A LX)

[CEAR =

7

17 & 0.0 mo
TEEICES 0.0 m2
TR ED 14.3 mo
50 B W E T 459.2 mo
17 ok Z OO m2
TR EICED 0.0 m2
T EICED 14.3 mo
50 B & E T 459 9 mo
— T 5 & TERE A \
M | BB o o0 03 24 2122 ] 23] 24| 21 ] 22 | 23 | 24 | %
+14.0 0.00 6.87 3.44 0.0
No.24 6.00 6.87 6.87 41.2
SP.7(No.24+15.11) 15.11 7.50 7.19 108.6
No.25 4.89 7.50 7.50 36.7
+4.6 4.60 7.50 7.50 34.5
+14.0 9.40 7.50 7.50 70.5
No.26 6.00 7.41 7.46 44.7
EC.7(N0.26+8.01) 8.01 7.25 7.33 5h8.7
EC.7(N0.26+8.01) 0.00 1.50] 7.25 0.75| 7.25 0.0 0.0
+14.0 5.99 1.50] 7.13 1.50] 7.19 9.0 43.1
+17.0 3.00 2.00] 7.01 1.75] 7.07 5.3 21.2
d‘%‘l‘ 63.00 0.0 0.0 14.3 459.2
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R E

21 A& E M2 T 0.0 m2

22 ¥ & T 459.2 m2

23 K [ & IE 425.7 m3

24 K m ¥ 1k 43.2 m2

21 A& E Mo T 0.0 m2

22 ¥ & T 459.2 m2

23 K [ & IE 425.7 m3

B | e ] e i

252612728125 [26]27[28] 25 | 26 | 27 | 28
+14.0 0.00 6.87| 6.32] 0.60 3.44] 3.16] 0.30 0.0 0.0 0.0
No.24 6.00 6.87| 6.32] 0.60 6.87| 6.32] 0.60 412 379 3.6
b 7080 24+15.11) 15.11 7.50| 6.96] 0.60 7.19] 6.64] 0.60 108.6]  100.3 9.1
No.25 4.89 7.50] 6.96] 0.60 7.50] 6.96] 0.60 36.7]  34.0 2.9
4.6 4.60 7.50| 6.96] 0.60 7.50] 6.96] 0.60 345 32.0 2.8
114.0 9.40 7.50| 6.96] 0.60 7.50] 6.96] 0.60 70.5|  65.4 5.6
No.26 6.00 7.41{ 6.87{ 0.60 7.46] 6.92] 0.60 447 415 3.6
iC.7(N0.26+8.0) 8.01 7.25] 6.71] 0.60 7.33] 6.79] 0.60 58.7]  54.4 4.8
iC.7(N0.26+8.0) 0.00 7.250 6.71] 1.20 7.25] 6.71] 0.90 0.0 0.0 0.0
114.0 5.99 7.13| 6.59] 1.20 7.19] 6.65] 1.20 431 398 7.2
+17.0 3.00 7.01] 7.01] 1.20 7.07] 6.80] 1.20 21.2] 204 3.6
/NET 63.00 0.0 459.2] 425.7] 43.2
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oA

25 L H &AL £ 344.3 m2

m2

mJ3

m2

25 L H &AL W= 344.3 m2

m2

mJ3

m2

B | W T e v M i
29130131(32]129(30]131(32] 29 | 30 [ 31 [ 32
+14.0 0.00| 4.75 2.38 0.0
No.24 6.00| 4.72 4.74 28.4
SP.7(No.24+] 15.11| 5.43 5.08 76.7
No.25 4.89| 6.34 5.89 28.8
4.6 4.60| 6.74 6.54 30.1
114.0 9.40| 6.11 6.43 60.4
No.26 6.00] 5-47 5.79 34.7
EC.7(No.26+ 8.01] 5.08 5.28 42.3
114.0 5.99 4.73 4.91 29.4
+17.0 3.00| 4.26 4.50 13.5
/NET 63.00 344.3 0.0 0.0 0.0




